(SN
<
T

a(d cot(B))

0% @) (rad)

Ratio

L

) 2 3
TPlpg)T (PCA t%obeamliné[P

2 3 -1
TPlpg)T (PCA t%obeamliné[P 10 1

[—— DQW_orignal_stepZ_Tibar-phaseI-Newgeom

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquareNew_step2_ttbar-phasel-newgeom
—+— DOM_pixel CPETemplateCutChiSquareNew?2_step?_ttbar-phasel-newgeom

) (cm)

z

%1071

o(d d.) (cm)

ooa

2

[any
<

luﬁ"

101 1

.910_2':
g 3- 1
2F T I
10 1 10 02 - 10°
TP, (PCA t%) beamllne)O



	Contents
	Page 1


